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6.1 DO00O0OD00O0O0OO
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6.3 DO00O0OD0O0O0O0O0DD0OO0O0O0

1) 29y 0000 e <2x<b0000000,p(z) <pi(x)d0D00O0D0O0OO
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ggoobod

D ={(z,y)lp2(2) <y < pr(x),a < w < b}

O00000.00  pO0O0O0O0O0O0OOOODOODOOOO Px,yyODOOO,

—// —dwdy—/Pd:c (6.3)
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0 Qz,y) 0000,
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//Da—xdxdy—/CQdy (6.4)
nooooooooo.

(3y 00000 DODOOO(63) 000 (6.4)0000000000.

(6.3)0 (6.4)0 0

// (862—89 dxdy:/CPd:c—FQdy (6.5)
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/Agnﬁhi/VAdV (6.6)
S 1%
00000.000000000000.

(1) 00 VvOOO 2y 000000000000000000000000,
(6.6)000000O0000.

() 000000000000000.000 £,¢0000000,20000
ds0000000,0000000000 S00000000000.
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o
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3) OO0 p(z,y,2,t) DO0ODODODODODO v(z,y,2,t) 0000000000, OO
goodooodooooooooo,jododoonoooooooon.

gf + V-(pv) = 0. (6.7)

(4 00000000000000000000000.0000000000
000000000 ¢ (Jd/nesec)d

q=—kVT (6.8)

O0000.000 k0 OODOO (thermal conductivityJ OO . 00000
gogooobooobboob.ooboobbbbuoooooouoooobo,o
gogodoooooobobobbobooooo.

oT

—— = gV?T. 6.9

5 — " (6.9)
000 «0 0000 (thermal diffusivity)D, 00000 pO00000000

000 ¢, 0000 k=Fk/pe, 00000,
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6.5 DO00O0O0OOO0
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